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QUESTION 1

You are working on a project to deploy a critical multitier web application. The application is as follows: In the scenario
described, which of the following would be a good alternate design choice to discuss with the vendor/web development
team?

Number of | Server Role | Memory | CPU Allocation | Disk Allocation
 Servers | Allocadon : |
20 Web 8 GB | 2vCPU | 80 GB system,
| | 150 GB data
5 Processing 2GB 2 vCPU 80 GB system,
_ . | 50 GB data
2 Database 32 GB 8 vCPU 80 GB system,
300 GB logs,
500 GB data

A. Consider consolidating the database servers into one large server for ease of management, backup, and licensing
costs.

B. Consider creating a file server with UNC file shares presenting the read-only data for web servers. This would reduce
the amount of space required from approximately 3 TB to approximately 150 GB.

C. Reduce the specifications of each web server and increase the number of servers to distribute the load more widely
across the cluster.

Correct Answer: B

QUESTION 2

A good design . (Choose two)

A. meets project requirements and considers infrastructure qualities

B. uses the latest best practices and considers infrastructure qualities
C. removes all single points of failure

D. considers the impact of component failure and subsequent mitigation

Correct Answer: AD

QUESTION 3

You are designing a vSphere 5 HA cluster. One of the requirements is to ensure full collection of log files in the event of
an issue. Which of the following is correct? (Choose two)
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A. By default, ESXi logs are not persistent following reboots.
B. The logs should be forwarded to a syslog server or vCenter dump collector.
C. The ESXi logs are persistent through reboots.

Correct Answer: AC

QUESTION 4

An activepassive storage array should be configured with the fixed multipathing policy.
A. True

B. False

Correct Answer: B

QUESTION 5

A logical design includes basic subsystems that the design will use and data flow directions, but it does not include
specific hardware or settings details.

A. True
B. False

Correct Answer: A
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